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QUESTION 1

A prison system has historical data on prison inmates and wants to find what factors are related to recidivism (return to
prison). What type of model would be used?

A. Segmentation model
B. Classification model
C. Association model
D. Anomaly model

Correct Answer: B

QUESTION 2

The SetToFlag node creates separate flag fields for values of a categorical field. It must be followed by an Aggregate
node in order to aggregate the flag fields on a grouping field such as transaction records grouped to customer\\'s
records.

A. True

B. False

Correct Answer: B

QUESTION 3

The optimal binning method in the Binning node uses a Supervisor field to determine the binning cut points.
A. True

B. False

Correct Answer: A

QUESTION 4

Which node can be used to easily generate a field that divides the data into subsamples for the Training and Testing
stages of modeling?

A. Sample
B. Filler
C. Balance

D. Partition
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Correct Answer: D

QUESTION 5

Given the information below, which node would be used to produce the correlation statistic between the fields off
peak_calls and weekend_calls?

Field
|A] handset
|A] chumn
> peak_calls
{ﬁ} peak_mins
#» offpeak_calls
@ offpeak_mins
#» weekend_calls
#r weekend_mins

fAY intarnatinnal mine

A. Matrix node

B. Statistics node
C. Histogram node
D. Means node

Correct Answer: B
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